1 2 3 I 4 5 I 6 I 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A [NEW RELEASE LJH 08/13/05’ o LJC 08/13/05’
| ITEM PART NAME Q'ty NOTES B | K YCH 09/13/07 2 LJC 09/13/07
— ‘  nw— L PLASTIC HOOD 2 SEE P/N C =g migs R~ YCH 07/18/08’ a2 LJC 07/18/08’
ml ! I 2 5 |21 LONG BOLT 2 #4—40 D | H4n”Amiskm YCH 05/20/10’ % LJC 05/20/10’
- ‘ - 2.2| SHORT BOLT 2 #4-40 E | SM3s«120084] JyM3%10 YCH 08/30/10’ o LJC 08/30/10’
‘ 3 NUT 2 M3 F |ADD P/N CODE LIC 12/24/13 Y%
4 LONG SCREW 2 M3
NOTES:
24.99 3 S K\ SHER | 2 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
7.1| METAL.WASHER 2 M3 DS1045 — 09 X X X X X — XL _
30.8 7|7.2| PLASTIC—1 WASHER 2 ABS i?ostMoteﬂO‘S ®
12.0 7.3| PLASTIC=2 WASHER | 2 ABS B: Similar ABS
1 Washer type
1: Metal
1 2: Plastic—1(Lock type)
| ‘ | 3: Plastic—2(Screw type)
[ ] I Bolt type
L: Long
‘ S: Short
I Packing type
1: Mix packing
‘ © = 2: Separation packing
| ] I Q: Full packing
‘ Cover Material
|— | P: Plastic(ABS)
o |_ S ) [ Cover Color
‘ A: Gray
| B: Black
V: lvory
Position
‘ 2 - 09: 9pin
© .
7 1.0
s UNC#4—40 M3 3
RN
0 - ! A;,HE'*,
= % ) ' 5.40
‘ ) I | LN I .
| - |
Short BOLT NUT  t=2.3mm
It M 23 g , JE 0 M3 5
‘;_7,,4_ } ‘J‘ i L L8 W.8 /—4 Q 480
e | ; 1lera 18 0\ % ;
‘ | O R I ¢ L o) | a2
T 4 ral | (NI 3 M7 == L g
2 et 1 has (10 ==t} é ]
4-40 UNC 8 g @ |—75"| ‘ !
2l < & Plastic—1 Plastic—2 LONG SCREW .
® e - - - ——— = - ———— e —— SMALL WASHER
@ 1= - - 1T - GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @75} |TITLE | DfSUB Plastic Hood 180°
140 3 m | 9 Positions
6.6 2 7 X.  £0.50 A GixiItEEnabs- L hins
13.5 = X +0.38 X +3° SHEET SIZE A4 | SERIES TDU.O45 SERIES
30.5 XX +0.25 XX +2°
44 [DRAWING TYPETCOSTOMER =N J\N =
DRAWING TYPZ[COSTOMER = J} /NI
Long BOLT SCALE 1:1 |SHEET |1 OF 1 ®
SRAWING o lE—BS 035 0o | €onnFLy® CONNFLY ELECTRONIC CO., LTD
1 2 I 3 4 | 5 6 I 7 I 8



Jacky
CONTACT WAY

Jacky
New Stamp


1 2 3 | 4 5 | 6 | l 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
- A | NEW RELEASE LJH 05/18/05’ N LJC 05/18/05
ITEM | PART NAME Qly NOTES B | #rmi YCH 09/13/07’ ~ LJC 09/13/07"
/—n—‘—nﬁ‘ ! PLASTIC HOOD 2 | SEE P/N C | ®maghEige R~ YCH 07/18/08’ ~ LJC 07/18/08’
[ [ u_m_u ) ] , |21] LONG BOLT 2 #4-40 D | HieierEeAsE YCH 05/20/10’ ~ LJC 05/20/10’
| @B bORT, BOLT 2 | #4-40 E [ADD P/N CODE LIC 12/24/13 ~
‘ 33.32 ‘ 5 NUT 2 M3 NOTES:
4 LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
I 39.2 | 2. PART NUMBER CODE:
5 SMALL. WASHER 2 DS1045 — 15 X X X X X — XL
6 SHORT SCREW | 2 | M3 Hood Materials ®
7.1| METAL WASHER 2 M3 B: Similar ABS
7 |7.2| PLASTIC—1 WASHER 2 ABS XVOSMhetr\type
: eta
7.3| PLASTIC—2 WASHER | 2 ABS 2: Plastic—1(Lock type)
3: Plastic—2(Screw type)
L ‘ Bolt type
T L: L
= _\ ‘ S Short
) | \ 1 | Packing type
| 1: Mix packing
/ [ 2: Separation packing
Q: Full packing
2 Cover Material
Sk 137 P: Plastic(ABS)
W0~ . Cover Color
MM Q 1.0 A: Gray
[ &) UNC#4—40 B Black
A e
f—L—ﬁ——— e tw?snpm
i
— Short BOLT
8.0
9.9 ‘ NUT  t=2.3mm
Y, \ ﬂ
| 4.8
N i y |
| T
2 Plastic—1 ; R
=40 U § : SHORT SCREW SMALL WASHER
i H \ GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @--&1- | TITLE D-SUB Plastic Hood 180°
T 18 Position
4.0 X.  +0.60 X. 15 A L IMimiNINAanD O LR rPYe
6.6 3 " X +0.38 X +3 | SHEET SIZE A4 | SERIES |[DS1045 SERIES
13.5 X N XX +0.25 XX +2° [ y \
305 DRAWING TYPE [COSTUMER R 5y #ﬂ EE % ﬁ BE E"j
44 Z
SCALE 1:1 |SHEET [1 OF 1
()
Long BOLT DRAWING NO. lo—Ds1045—150000x—x—£| €@NNFLY® CONNFLY ELECTRONIC CO., LTD
1 2 I 3 4 | 5 6 I 7 I 8



Jacky
New Stamp

Jacky
CONTACT WAY

Jacky
CONTACT WAY


1 2 3 4 5 6 I 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05’
ITEM | PART NAME Qty NOTES B | #mp YCH 09/13/07’ ~ LJC 09/13/07"
54.0 1 PLASTIC HOOD | 2 | SEE P/N C | Hemmuuisige R~ YCH 07/18/08' ~ LJC 07/18/08’
| 4704 5 [21] LONG BOLT 2 | #4-40 D | At m YCH 05/20/10’ ~ LJC 05/20/10"
10 2.2 SHORT BOLT 2| #4-40 E |[ADD P/N CODE LJC 12/24/13 ~
- 3 NUT 2 M3
| ‘ 4 LONG SCREW 2 M3 NOTES: .
ti ‘ ti 1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 2. PART NUMBER CODE:
C ‘ 6 SHORT SCREW 2 M3 S R XLHm Materials ®
\ 71| METAL WASHER | 2 | M3 2 Bt Similar ABS
7 | 7.2 PLASTIC—1 WASHER 2 ABS _\ 13.7 .
1.0 asher e
75| PLASTIC-2 WASHER | 2 | ABS o UNCH4—40 1: Me(a\_yp
2: Plastic—1(Lock type)
8.0 1 3: Plastic—2(Screw type)
7ti’4":|7’ Bolt type P
r_ L L
! S: SohrZ)gr(
‘ Pcckl'mg (yp(le
i Short BOLT ;:: ggpuﬁf}fig:gpuckmg
H Q: Full packing
‘ C.over M.o(erio\
J 3 st
‘ M3 B: Black
‘ \é: \_\(_ory
‘ - 22:5“2%%\%
o i -
L J: . \ . :L NUT  t=2.3mm
C : J @
‘
4.8
__ __ __ __ __ __ __ __ __ S | )
% By
2 \w Sl D A UG R
= C,tl L2 NN = | X ~ :
24.0 o) i | L
18.0 M3 16.0 2 Wl i ‘
[~ Yy S o !
IIE _A o o N _ ~ i i ‘ o | 6
SS-Drd @ gé ?’}% @} H |
7 L T80 | w25 || M3 &
Metal Plastic—1 Plastic—2 ‘
5 __ L __ e __ __ il __ __
4-40 UNC g SHORT SCREW
. IQ o \\ GENERAL TOLERANCE‘ ANGLE TOLERANCE [PROJECTION | @—£F | TITLE | D-SUB Plastic Hood 180°
I I v X +0.60 [k J_\”_';_____ __E'”_J _____ * 25 Positions
Y o X +0.38 | X 13 SHEET SIZE | A4 SERIES [ DS1045 SERIES
: s g ¥ XX +0.25 XX +2°
. ¢ PN e i b =y \
g E e — R W ol A
4t SCALE 1:1 SHEET |1 OF 1 ® I
Long BOLT SRAWING Mo lo—DSTo45—25000—x—E| €onnFLY® CONNFLY ELECTRONIC CO., LTD
1 2 3 4 | 5 6 I 7 I 8



Jacky
CONTACT WAY

Jacky
New Stamp


1 2 3 4 5 I 6 I 7 I 8
Som LST REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A |NEW RELEASE LJH 10/26/05' ~ LJC 10/26/05’
TEM ;&ZTT‘CNAXEOD Q;y — 2%3 B | mempm YCH 09/13/07’ ~ LJC 09/13/07’
LONG BOLT 2 | #4-40 C | BAIHIKIRL R YCH 07/18/08’ ~ LJC 07/18/08’
2 SHORT BOLT 5 #2-40 D | Hihn”Aafg Rk YCH 05/20/10" ~ LJC 05/20/10’
3 NUT 2 VE E |ADD P/N CODE LJC 12/24/13
4 LONG SCREW 2 M3 NOTES: )
1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 — 37 X X X X X = X
6 SHORT SCREW 2 M3 TTT T Hood Materials ®
7.1| METAL WASHER 2 M3 éi éxenfum ABS
7. |7.2| PLASTIC—1 WASHER 2 ABS
Washer type
7.3| PLASTIC—2 WASHER 2 ABS 1: Metal

2: Plastic—1(Lock type)
3: Plastic—2(Screw type)
Bolt type

L: Long

S: Short

Packing type

1: Mix packing

13.7 2: Separation packing
10 Q: Full packing
-0 Cowr Mo
Cover Color
= — é; 44
B Position.
M = 37: 37pin
o Short BOLT
K
LONG SCREW
4.8
SN
3.2 | [ S
13.70 l o
@‘3/9
2
4—40 UNC 8 "
= \ GENERAL TOLERANCEI ANGLE TOLERANCE [PROJECTION | @—€F | TITLE | D-SUB Plastic Hood 180°
f II \ X +0.60 X L5 UNITS mm | 37 Positions
40 X £0.38 ‘ X £3 SHEET SiZt A4 [SERIES | DS1045 SERIES
6.6 § . | XX +0.25 XX +2°
13.5 s g | % W iy Fy | N
08 DRAWING T7PE [COSTOMER )1% ﬁﬂ EE % %‘ IEE /A.\ a
4 SCALE 1:1 |SHEET [1 OF 1 o
1 2 3 4 [ 5 6 I 7 I 8



Jacky
CONTACT WAY

Jacky
New Stamp


11.10

4 5 | 6 l 7 l 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A | NEW RELEASE YCH 05/24/11 ~ LIC 05/24/11
B | ADD P/N CODE LIC  12/24/13
69.50
61.00
NOTES:

53.80

45.90

49.79

v r I
12.72
3 %S
& Y
Q_
fﬁ .
BOM LIST
ITEM PART NAME Q’ty NOTES

1 PLASTIC HOOD 2 SEE P/N
2 BOLT 2 #4-40
3 NUT 2 M3
4 M3*10 SCREW 2 M3
5 M3*12 SCREW 2 M3
6 BIG WASHER 2 M3

1. Hardwares are

all Nickel plated.

2. PART NUMBER CODE:
DS1045 — 50 X X X — X
LHood Materials®
A: ABS
B: Similar ABS
1 Packing type
1: Mix packing
\ 2: Separation packing
Cover Color
= M A A: Gray
\ B: Black
Cover Material
P: Plastic(ABS)
Position
50: 50pin
3
] M3 Y § UNCH4—40 &
® I8
5.0
NUT  t=2.3mm 325 6.0
¥ BOLT
WJ 44? ) W\
%/ ) —3 1 A
———— g
<@é</ |
N (:\\\,,,\_
&
LONG SCREW BIG WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @ —GF | TITLE | = Practic Food 100
X +0.60 X 45 UNITS nm 50 Positions
X +0.38 %" ! E3" " /| SHEET SIZE A4 | SERIES | DS1045 SERIES
XX +0.25 XX +2°
DRAWNG TYPE [CUSTOMER ’t% ﬂg EE % %‘ IEE /ZA\ a
SCALE 1:1 |SHEET |1 OF 1
(]
DRAWING NO. |C—DS1045—50XXX—X—B connFLy® CONNFLY ELECTRONIC CO., LTD

4 | S

6

7 | 8



Jacky
CONTACT WAY

Jacky
New Stamp


